Divide by 0.1 (E)

Find each quotient.

3.9799 - 0.1 = 0.2-+0.1=
6.5+ 0.1= 3.353+0.1=
8.61+0.1= 6.677 - 0.1 =
2.265 + 0.1 = 46 +0.1=
6.0115 + 0.1 = 8.53 +0.1=
4.64+0.1= 0.03+0.1=
1.09 - 0.1 = 432 +0.1=
9.289 - 0.1 = 3.04 +0.1=
9.369 ~ 0.1 = 9.404 +~0.1=
7.6781 + 0.1 = 2.209 - 0.1 =
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Divide by 0.1 (E) Answers

Find each quotient.

3.9799 = 0.1 = 39.799 02+01=2

6.5 + 0.1 =65 3.353 + 0.1 =33.53
8.61 +~ 0.1 =86.1 6.677 + 0.1 =66.77
2.265 + 0.1 =22.65 46 +0.1=46
6.0115 + 0.1 =60.115 8.53 +0.1 =85.3
464+ 0.1=46.4 0.03+0.1=0.3
1.09 - 0.1 =10.9 432 +0.1=43.2
9.289 = 0.1 =92.89 3.04 +-0.1=30.4
9.369 +- 0.1 =93.69 9.404 - 0.1 =94.04
7.6781 +0.1=76.781 2.209 =+ 0.1 =22.09
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